Fake+pileup rate

0.8 @ E 0.6
E ©0.45 E
0.7F- = E =
E 8 04 0.5°2
- a 3 o
0.6F £0.35 3 g
i~ E o
E < E 0.4
0.5F & 034
0.4f- 0.25 3 0.3
o3f 0.2 3
E 0.15 3 -2
0.2k g
E 0.1
ot E 0.1
E 0.05 Y et
S ED .
LW T T T T T T T
0:20.25 0.3 0.35 0.4 0.45 0.5 0.55
Efficiency
£

*¥150.20250.30.350.4 0.450.50.550.6
Efficiency vs. cut on dz(PV

—=— DQM_V0001_R000000001__Global__CMSSW_CkiPU50__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkFitPUSOLowPtQuad__RECO
—— DQM_V0001_R000000001__Global_CMSSW_LowptQnoclean__RECO
—— DQM_V0001_R000000001__Global__CMSSW._looseSC__RECO




	Contents
	Page 1


